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General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 — 16 and 30 - 32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limit should
be adhered to as far as possible.
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SECTION A

*1, OGR4 TSI TEAT H deh-ieh! IS0 TEATT IME T 3 | ST HuTaAT HHr o
e | 391 e Hed Fansy | 1

Large number of technical training institutions have been started by the
government. State its economic value in the context of production
possibilities frontier.

2.  3I9AIfrar <kl ity d@fSu | 1

Define utility.

3.  yfiadl @rra st 379 9qrsU | 1

Give the meaning of variable cost.

4.  ITE B <hl qimST ST | 1

Define production function.

5.  HgATN STUIUhR ¥ =1 AU B 2 1

What is meant by collusive oligopoly ?

6.  3cUTT HWTEHT Ish I shl 3R gAdl o1 gl § ? THHST | 3

Why is a production possibilities curve downward sloping ? Explain.

7. 9 T 9%g sl HAT T 15 U0 13 | Feh T 12 Uid 31 @l A @, ar
3Heh! | H 25 Hfawr i ghg B 7 | AT I HiEa = AT HIY | 3

When price of a good falls from I 15 per unit to ¥ 12 per unit, its

demand rises by 25 percent. Calculate price elasticity of demand.
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11.
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Ifd $h1S L BH gRT & ohl i ol hdl THTIGT LT & ? THEST, |
arera
i TEmaT WU g 9% i gfd 1 HE gAIfad Fdt ¥ 2 FHEST |

How does change in per unit tax influence the supply of a good by a
firm ? Explain.

OR
How does subsidy influence the supply of a good by a firm ? Explain.

SR i fre feufa o oftwa wonfy (svm) weg Hua wrwfa (mm) &
SR BT 3 ? THATST |

Under what market condition does Average Revenue always equal

Marginal Revenue ? Explain.

T U1 AT SIS § Shal31] oh TfUeh HE&AT o THTE hl SATEAT Hivg |

Explain the implication of large number of buyers in a perfectly

competitive market.

g AMd FC foh Th IUNIH had &l IEGHAT H1 ITHM HAT &, IWFC
forociuT St TERIAT | SUNIRRT T i 314 GHST |

AT

T IUHRAT had & aegell X 3R Y 1 ITHN Hal & IR dged H § |
areTsy foh A A9 aFg X i hia i B, @ a&g X A A sed 7 |
ITATTaT foweiyor &1 9T i |

Assuming that a consumer consumes only two goods, explain the
conditions of consumer’s equilibrium with the help of Utility Analysis.

OR
A consumer consumes only two goods X and Y and is in equilibrium.

Show that when price of good X falls, demand for good X rises. Use
Utility Analysis.



12.

13.

Note :

14.

58/2/1

T " I R TH AW o § 3Tl 1Sy | I U a%q oI foh U
IUHIRAT o fou =i 7, T+t Sumieti o fou afean gidt 8 2 g9emsu | 4

Distinguish between an inferior good and a normal good. Is a good which

is inferior for one consumer also inferior for all the consumers ? Explain.

REdl STgUTal o R o AR FA UG § IR oh (o= ={OT Famsy |
@I 1 TN HIT |

State the different phases of change in total product according to the

Law of Variable Proportions. Use diagram.

HETCTRGT 3797 FaeT gIBgIT aeiermferan & 1o7q o7 q&ar 13 & T W& |

The following question is for the Blind Candidates only in lieu of
Q. No. 13.

gt eruTal w1 g T | 4

Explain the Law of Variable Proportions.

IHTH % fIvcivul § YRR Tqed hl Id oarsC AR 3 @l o 4
e augmsT | 6

AT

SARME ashi hl 9 fosiwarsti 1 samen iy |

State the conditions of consumer’s equilibrium in the Indifference Curve

Analysis and explain the rationale behind these conditions.

OR

Explain the three properties of the Indifference Curves.
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15. TH BH o ar § Fefeifad g=n @, dma anma 3R g genta (smH) &
MR T BH T e ICUTET T hITT | HRUT FASY | 39 IcUTET T AT
ft F1a HIfw |

EIRIECH A GETH (3TH) %A AN
€520 ®) )

1 8 10

2 16 18

3 24 23

4 32 31

5 40 41

From the following information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.
Also calculate profit at this output.

Output Total Revenue Total Cost
(units) (%) (%)

1 8 10

2 16 18

3 24 23

4 32 31

5 40 41

16. SI9R § Teh %] o T AR & F1 ATAR g ? 3oh 30 I&] o d9RK T
TS ISl YHTET I TEE ST | [Tt 1 S9AnT i |

What is ‘excess demand’ for a good in a market ? Explain its chain of

effects on the market for that good. Use diagram.

e HETITIEd 5797 HacT gIegia Themaal & 1o/g 97 &7 16 & €97 W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 16.

TSR H Tk & b [T AR & FA1 SHIT B ? $oh 36 9] IR T
TS TSl THTET hl TEAT Y | ATfAehT 1 IWAM HIT |

What is ‘excess demand’ for a good in a market ? Explain its chain of

effects on the market for that good. Use a schedule.
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SECTION B
17. ¥ sk 9 H=1 I 8 2 1
What is a central bank ?
18. THE AW § ‘Furell {1 A9 FaTsT | 1

Give meaning of ‘deficient demand’ in macroeconomics.

19. TH¥ Yfd i gfamn e | 1
Define aggregate supply.

20. ‘wufHes =Er ¥ T AU B ? 1

What is ‘primary deficit’ ?

21. FEG3Ti o FaTd 6 FEgati & AT W AIHAT Sl F1 HEd & ? 1

What is excess of exports of goods over the imports of goods called ?

22, TRHAIMGH T ¥ T MU 8 2 THHT Toh 38T GIoIC. 3R 3k Fohel
ffF 3G o ANT o HeATT o ok b €9 H FAR W TWE HI AT

i | 3

What are non-monetary exchanges ? Give an example. Explain their
impact on use of gross domestic product as an index of welfare of the

people.

23. Tgl 1 ‘RANG YA 1 HHh Hh1d U | 3
AYAT
g1 &1 oI T=d’ S THeE |
Explain the ‘standard of deferred payment’ function of money.

OR

Explain the ‘store of value’ function of money.
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24.

25.

26.

217.

28.

58/2/1

HI qd BT Far3¢ fob wepit g9 °§ ffofiad w1 Toa =9 /M1 Se @
ST =9

() SEER W/

(i) g i | =

Giving reason, state whether the following is a revenue expenditure or a
capital expenditure in a government budget :

(1) Expenditure on scholarships

(i1))  Expenditure on building a bridge

TS, foh YA dqe el fohd JehR WIAT STl 3 |

How is balance of payment ‘deficit’ measured ? Explain.

T o HoIAgd ¥ T AT 2 ? TEH WRA o TGl W FT IHE 98 Fehal
2 ST 4 2

What is depreciation of Rupee ? What is its likely impact on Indian

imports and how ?

HET MY ! AT IR 3Gh Teh THATT |
AT
gl ek T HLH TR SRl THEST |
Explain the concept of money supply and its components.

OR
Explain the ‘currency authority’ function of central bank.

T AdEEd, S b dqem # g, % 9R § MHfaRgd stiesl ¥ W@
(TETIRT) 3UMNT 3 o1 Yiehet shifaTu

(lglzl AT = 900
T s=d ygqi = 0-10
IEENEED = 80



*29.

30.

58/2/1

Calculate ‘Autonomous Consumption Expenditure’ from the following

data about an economy which is in equilibrium :

National income = 900
Marginal propensity to save = 010
Investment expenditure = 80

TR F e i e 3R W@reed SEt gan gwd YgH e W ARSI
HT IE T | 77 form anfdss gesr ot qwifar 7 2 wvEmsw | 4

Government has started spending more on providing free services like

education and health to the poor. Explain the economic value it reflects.

frefafad @ SR $ma | a@sa TR 3ag R Taa ude wis o’

1 I hITTT 4,2
(T 3T 4)
i) Tocu =+ faa s o (=) 10
(i)  focEn =1 faa IS (I1e) g&aaon 20
(iii)  HIgdl AT o 400
Gv) T 50
(v) T+ & qverq oy 150
(vi) TFrSenl gr ST gRa RIeH 50
(vii) TeRtmn 100
(viii) ATt 70
(ix) w-FEfal 6 i om 300
(x) Taa s 140
(xi) 3T YSi T ITHAT 80
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Calculate ‘Gross National Product at Market Price’ and ‘Net National
Disposable Income’ from the following :

(T in Arab)
(1) Net factor income to abroad (-) 10
(1)  Net current transfers to abroad 20
(111) Wages and salaries 400
(iv)  Corporation tax 50
(v) Profit after corporation tax 150
(vi)  Social security contributions by employers 50
(vi1) Rent 100
(viil) Interest 70
(1x) Mixed income of self-employed 300
(x) Net indirect tax 140
(x1i)  Consumption of fixed capital 80

31. UTH ™ 1 FHHE @d a9d Ffafeq & @y s =gagr fmam S
ET ? 39 IR % TH T HRU FAHT AT 2 |

() USRSl " BT PIA
(i) 99 % GRH Wi | glg
(iii) o =TT gRT el ST S

How should the following be treated while estimating national income ?

You must give reason in support of your answer.
(1) Bonus paid to employees
(1)  Addition to stocks during a year

(111)  Purchase of taxi by a taxi driver
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32. T dHfcdeh GERIUN § UTH ™ 1 MgRur FHIST | W@ 1 TN
T |

HAAAT

e TU 39T 9% @S9 9% UTH i H T I a1l =01 9q1su | Wit
T 39T HIfT |

Explain national income determination through the two alternative

approaches. Use diagram.

OR

Outline the steps in deriving saving curve from the given consumption

curve. Use diagram.

Fig:  HEIRad geT FacT GIPET TRl & g IvT G&7 32 % T W&

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 32.

g o1 fAuftor % S Skfeuss gfEmiv 6t samen Hifvm |
Jreran
39T HeAd IR T=d HeAd <hl AT hIFT |

Explain the two alternative approaches of national income
determination.

OR

Explain the consumption function and saving function.
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